
�������	
������������

����

���
���������	����������	
�����


��
��	
�������
����
��
����

�������	
���	






����	������	
����	�����	��

������	�������	��	�����	������


��	��������������	� ��������


���	����!	
��	��


���	������	���!	�"	�#�$	%&$$

'�������	���!	'�(��(��%��

���'�

	����������)	�������

*+#	
�������,	
�����

������	
�$	$�"

��-�./�0�! �
�	#&��	1���

�2�3454-�! �
�	#&��	1��$

�+524-!	524-6��5.2332��/2��-�789��9:;

�������	
���

<��5.233	���/2��-�78	�454��=

4		



��������

�	 
������
�
����� 
 ��������
	 
 �

� 
����� 
 �	 
���
��� 
���� 
�� 
��
�� 
������ 
��
��

�
���
�
	�
	
 
�
���

�
!
"��
#�$�����
���
�
�

�
$$������
�������
�$�	�

�
���

����%

!��
"
��
"��
�������

��
��
����

�
���
���		�	�
��
�����
�	�
�

�	�
�$

	
���

	���
�
�
�������
������
�
�����
$�������
	%

!��
����
��
	
�
"����	
�	
������
�
�����
&��
���'
����
���
��
��
�
	�������
����
���
����

���
���
�
��	����
�
�
������
�
�����
��$��	��
�����������'
�
$�	
���������
�	�����	�

���������
��$���
����������
�	�
�
���%
 
!����
��
������
�����	��
�
�
�����
�������'%
 
(	

���
�
��)�
$�	
����
�
��
��
�����'
����
���
��	�
��$��	��
$����	��
�	�
����
������'

��

����
����
���
��
�
�����
����
��
"��
��
����'
����	��
�	�
����������%
 
!��
�����

������	�
�����
�$�	�
�������
�

����
�

���
����		�	�

�
���
����
��	���'%

!��
��������
	
�	������
�����
$����	�)���
�����
����%

!��
����
"���
���"��	
*%�$
�


+%�$
����
�	�
"���
���
��
$
���
�����	�
��
�	�
�������
,�
+%-.$
�

+%..$
�/0
�


���
�����

�
	������
�����
!������
���
����%
 
!��
��������
	
"��
���

�	�
�$��
�'
�

�����
��
��
�	�
�	���������
	
�
$�����	�
����
����
�	�
�"

������
�
���
���
,1���

2�
����	����
���%
123*4445
6�	�
����0%



!��
���
����
���
����
"���
��
���'
�
$�������
���
��
���
����%

 ��"��	
�%7$
�	�

�%4$

�
8.��
��	���'
�	�
�����
$���
��
�	�

�����'
�	
��������
��9��	��
�
$�����	�

����	
�����
$�:��
����3
���	��
$�������
�	��

�����
	���'�
����%

!����
�
"��
�
��;
	�

���
	
�
��
����
�	'
��������
���������

�

����
��$��	�%
 
!��

���	��
$�������
$�'

�������
�
����
�

�
$���	�
��������
	�
"�����
���

����'�	�
�������
�����
�������
����	�

���
������
�	�
��

��	�
"����
�
	��	���
�	�

���
�
��)$�������
����
�%

!��
��������
��9��	��
"��
���"��	
�%�$
�	�
*%�$
�����
�	�
������
	������
�����

!������
��	�� 
�	�
������� 
�� 
���"��	
�%.8$
�	�
8%��$
�/%
 
!��
����
�
�	� 

�

	������ 
"�� 
 ���
���� 
$��"�' 
��
	� 
 ��� 
������	 
�
�	���' 

� 
 ��� 
 ����� 
"��� 
 �����

����"����
�

���
	
���"���
�	�
	
�������%
 
(�
��
�����'
����
�	
���
�������
�������
���

����
�
$���

�
���
����
"
���
����
���	
��
��
���
�
	��$�
���'
�����
������
"���

��
��������
��

��	�
����	�

�
�����
���
 �
	;�
���%

!��
��������
	
���
	
�
������
�	'
40	34�:	��$����

�

����
���	�����	�
��	��

�
��$��	�%

(� 
 �� 
 ������
�� 
 ���
$$�	��� 
 ���� 
	
 
 ������� 
������
�
����� 
$�������
	 
 ��
��� 
��

�	�������	
�	
������
	
�

���
��
�
���
�������
�$�	�%

44



�������� .27�

$ �0���=:��4�0 $


 ��;0�>-�=7�5�0�3 $

� �2�;7��:0= 


& �/�	�?2-:2�4�0 


&9$ ���23	�@	40?�3�472�4�0 


&9
 ���/�=�-�78 


&9� �427�2552�4�	3���4�03	20=	./���7�2./3 *

* 
:552�8	�@	�/�	@40=4073	20=	��0�-:34�0 $�

���������	

� ��
�
	�2�2	��--���4�0	���5 $�

�� ��0=�0	���/2��-�743�	3:552�8 $%

444		



���� �� .27�

$ �/�	34��	��:0=2�8	40	��-2�4�0	��	�/�	$!$
*�	��=020��	
:�?�8	52. �


 ���2�4�0	�@	�/�	��42-	.4�3	A�'$+�B &

� 
���4�0	�/��:7/	=�.�34�3	40	��42-	.4�	$ *

&  4�>	�@	��42-	.4�	$	-��;407	0���/ �

*  4�>	�@	��42-	.4�	$	-��;407	3�:�/ �

� 
���4�0	�/��:7/	=�.�34�3	40	��42-	.4�	
 #

#  4�>	�@	��42-	.4�	
	-��;407	0���/ %

%  4�>	�@	��42-	.4�	
	-��;407	3�:�/ 1

1 
���4�0	�/��:7/	=�.�34�3	40	��42-	.4�	� $�

$�  4�>	�@	��42-	.4�	�	-��;407	0���/>�3� $$

$$  4�>	�@	��42-	.4�	�	-��;407	0���/�23� $


$
 
45.-4@4�=	3���4�03	�/��:7/	��42-	.4�3	$+� $&

4?



!" ��� �#�$����

!"! �/43	��.���	=��24-3	�/�	��3:-�3	�@	20	2��/2��-�74�2-	�?2-:2�4�0	>/4�/	���;	.-2��	.�4��	��

�/�	��=�?�-�.5�0�	�@	-20=	2�	
��:�	�/2�@�	
��:�	��2=�	���	��0=�0	����:7/	�@	��>��

�25-��39

!"% �/�	34��	4�3�-@	��?��3	20	4���7:-2�-8	3/2.�=	.-��	3�5�	$$�5	40	-�07�/	�8	
�	��	�*5

>4=��	2..��C452��-8	��0���=	2�	���	�"	�#�$	%&$$	A3��	�47:��	$B9		�/�	-20=	/23	���0

����0�-8 	 �-�2��= 	 �@ 	 .��?4�:3 	�:4-=4073 	 20= 	 �/� 	 :0=��-8407 	 ��0����� 	 3-2�� 	>4�/ 	 �/�

�C��.�4�0	�@	2	352--	3:�+3�2�4�0	��	�/�	0���/�23�9

!"� �/�	�?2-:2�4�0	>23	��D:4��=	23	.2��	�@	�/�	.-200407	.����33	.�4��	��	��=�?�-�.5�0��

20=	��	40@��5	:.�0	�/�	0��=	@��	@:��/��	2��/2��-�74�2-	54�472�4�09		

!"& ��	>23	��034=���=	�/2�	�/�	34��	/23	.���0�42-	@��	��520	@�2�:��3�	40�-:=407	.��3��?�=

�45���	3��:��:��3	20=	.�3�39	 	�/���	43	2-3�	3�5�	.�334�4-4�8	�@	.2-2��+�0?4��05�0�2-

20=	.��/43���4�	��524039		�0	�/�	.�3�+��520	.��4�=	4�	43	-4;�-8	�/2�	�/�	-20=	��5240�=

52�7402-	20=	.��4�=4�2--8	@-��=�=�	2-�/�:7/	2�	2	-2���	=2��	4�	>23	.���2�-8	=�240�=	20=

�:-�4?2��=9	

!"' �� 	 >23 	 ��034=���= 	 �/2� 	 �/��� 	 >23 	 2 	 -�> 	 �� 	 0�7-474�-� 	 .���0�42- 	 @�� 	 2-- 	 ��/��

2��/2��-�74�2-	.��4�=39		���:5�0�2�8	20=	52.	�?4=�0��	3:77�3�3	�/2�	@��	5:�/	�@	�/�

�45�	�/�	-20=	>23	52�3/8	20=	.��4�=4�2--8	@-��=�=�	20=	�@	52�7402-	?2-:�9	 	�/�	34��

4�3�-@	>23	0��	=�?�-�.�=	:0�4-	�/�	��7400407	�@	�/�	
��/	��0�:�89

!"( �/�	�?2-:2�4�0	>23	�2��4�=	�:�	�0	�/�	*�/	�������	
���	20=	��0343��=	�@	�/���	��3�	.4�3

5��/204�2--8	=:7	20=	2��/2��-�74�2--8	5�04����=9		�/�	�?2-:2�4�0	>23	40@��5�=	�8	2

.��?4�:3	7��:0=	40?�3�472�4�0	��5.�43407	��3�	.4�3	20=	�>�	=��.��	����/�-�3	A1���

2�
����	����
���%
123*4445	E:0�	
���B9

!") ��	43	:0=��3���=	�/2�	��=�?�-�.5�0�	�@	�/�	34��	>4--	��5.�43�	0�>	��55���42-	.��543�3

��	 �/�	�23�� 	���>��0	
��:� 	��2=	20=	�/�	���	�2?472�4�0� 	.-:3 	2���33� 	.2�;407	20=

-�2=407	@2�4-4�4�3 	>4�/40 	 �/�	��0��2- 	20=	>�3���0	2��23	 A��9 	�47:��	
F 	'-200407	��@9

'�(��(��%��B9

%" 
$*��+,�#��-����

%"! �/� 	 2��/2��-�74�2- 	 �?2-:2�4�0 	 >23 	 ��554334�0�= 	 �8 	 �� 	 ��83��0 	 �-2�; 	 �@ 	 �/�

�0?4��05�0�2-	�45�034�0	'2��0��3/4.	�0	��/2-@	�@	�	���520	20=	
�09

%"% ���/2��-�74�2-	5�23:��3	�0	�/43	34��	>���	3:..����=	�8	�2?4=	�4?��3�	���2���	��0=�0

���/2��-�78	�=?43��8	
��?4���	�07-43/	���4�27�9

$



�" �.$*� ���#

�"! �/�	����0�	7��:0=	40?�3�472�4�0	A�2�=	������/04�3	
���B	��?�2-�=	2	3�D:�0��	�@

2--:?42- 	=�.�34�3 	:. 	 �� 	$915	 �/4�;� 	 ��@-���407 	2 	52�3/8	�� 	 @-��=�=	�0?4��05�0�9

�/���	>���	2-3�	3�5�	�/2-; 	20=	@-40� 	7�2?�- 	 40�-:34�03� 	2-�/�:7/	 4� 	 43 	0�� 	�-�2�

>/��/��	�/�3�	@��5�=	=43�40��	-28��3	��	�:�4�=	3:�@2��39		��	>23	2-3�	.�334�-�	�/2�	�/�

34��	��0�240�=	��/��	02�:�2-	@�2�:��3�	3:�/	23	=��.��	��24=�=	�/200�-3	20=	/47/��

�20;3	�@	7�2?�-	20=	320=9		�/�	.��3�0�	7��:0=	3:�@2��	43	2�	2..��C452��-8	�5	��9

�"% ��	>23	��034=���=	.�334�-�	�/2�	��520	20=	.��/43���4�	��52403	40�-:=407	���/	3��28

2���@2��3	20=	�	
����	3:�@2��3	20=	�45���	��52403	��:-=	��	@�:0=	>4�/40	�/�	2--:?42-

=�.�34�3 	�?��-8407	 �/�	�4?�� 	����2��9 	 	 �0?�3�472�4�0	2� 	 �/� 	@��5��	���>0	�/2�@

���0>��;3�	3�5�	
��5	��	�/�	3�:�/	�@	�/�	.��3�0�	34��	A34��	��=�	�����B�	��?�2-�=

0�2�-8	 @���8	 �45��� 	.4-�3 	.-:3 	 �/�	 ��52403 	�@	 �>�	?��8	 -2�7�	.�3�3 	 3�� 	�0 	.-20;

�23�.-2��3! 	 �/���	>23	2-3�	20	2..2��0�-8	233��42��=	7�2?�-	 -28��	��	3:�@2��9 	 	�/�

��52403	-28	�0	2	0���/>�3�+3�:�/�23�	2-4705�0�	20=	2��	��034=���=	��	��	�@	��520

=2���	.�334�-8	.2��	�@	2	��4=7�	��	G���89	 	�/�	��.3	�@	�/�	�45���3	>���	�����=�=	2�

$9*�5	��	$9%�5	���	>4�/	2..2��0�-8	233��42��=	=:5.	-28��3	2��?�	$9��5	��	A����

�
$$	�2?4=	�4?��3B9

&" �/���0.,�.����

&"! 
 �.���1���0�����.����

�/�	�?2-:2�4�0	40�-:=�=	�/���	��42-	.4�3	-��2��=	2���33	�/�	�?2-:2�4�0	34��	A�47	
B9

�/�8	>���	=:7	�8	2	$�	��0	��2�;�=	�C�2?2���	:3407	2	=4��/407	�:�;��9		�/�	���0�/�3

>���	�2�/	
5	>4=�	�8	&5	40	-�07�/�	20=	@��5	&9�5	��	*9$*5	=��.9	 	�/�	.4�3	2��

0:5����=	40	��=��	�@	�C�2?2�4�0�	�'$	��	�'�9

&"% ���/�#�,��2

&"%"! � 	�����������
	 
 �
� 
 �	 
 ������
�
����� 
 <�������
		 >23 	 27���= 	 .�4�� 	 ��

��55�0��5�0� 	 �@ 	 �/� 	 @4�-=>��; 	A��5.233 	���/2��-�78�	 ������� 	 
���B9 	 	 �/�

.��7�255�	>23	2-3�	�2��4�=	�:�	40	2����=20��	>4�/	7:4=�-40�3	433:�=	�8	�07-43/

���4�27�	20=	�8	�/�	�03�4�:��	�@	�4�-=	���/2��-�743�39

&"%"% �/� 	 �C.�3�= 	 =�.�34�3 	 >��� 	 �����=�=� 	 5�23:��= 	 20= 	 ./���7�2./�=� 	 2-�/�:7/

40=4?4=:2- 	 -28��3 	 =4= 	0�� 	 .��=:�� 	208	 34704@4�20� 	 @40=3 	20= 	>��� 	0�� 	 3�.2�2��-8

��0��C��=9	 	��?�-3	>���	=��4?�=	@��5	20	�
	3.��	/�47/�	�0	�/�	�23���0	34=�	�@	�/�

�202-	�..�34��	�/�	34���	?2-:�	�9$59		�/�	2��23	�@	40?�3�472�4�0	>���	-��2��=	�8	�2.�=

5�23:��5�0�	�0��	2	$!*��	�0-2�7�5�0�	�@	�/�	�:���0�	��=�?�-�.5�0�	.-20	A�47:��


B9

&"%"� �/�	�����=3	�@	�/�	�?2-:2�4�0	/2?�	���0	2--��2��=	�/�	:04D:�	34��	��=�	��=
��	�8

�/�	�:3�:5	�@	��0=�0	���/2��-�74�2-	���/4?�9






�47	$ �/�	34��	�:�-40�	40	��-2�4�0	��	20	�C43�407	��=020��	
:�?�8	52.	A'-20	�"	�#%&
�F	

��.��=:��=	2�	$!
���B

��.��=:��=	@��5	�/�	
���	��=020��	
:�?�8	$!$
*�	52.	>4�/	.��54334�0	�@	�/�	��
�9	<���>0	��.8�47/�9	�--	�47/�3	��3��?�=9

��5.233	���/2��-�78	��=9�	��0=�0	
�$	$�"�	-4��0��	0�9	��	$����$�$#

�



�47	
 '��.�3�=	-��2�4�0	�@	�/�	�/���	2��/2��-�74�2-	��3�	.4�3	A�2�/	5�23:�407 	�	 
5	C

&5B	40	��-2�4�0	��	�/�	��=�?�-�.5�0�	.-20	�@	�/�	34�� 	,�����

	
<���
>
1'����

���%
/��"�	�
?
%
��)��40

&



&"� 
�.� .--.��$���$������.�#�3/���� .3/�


��:�	��2=�	
��:�	�/2�@	��																																																					A
��	��B

��42-	'4�	0�9	$ �D:4.5�0�	H	5��/�=3!

���I	��2�;�=	�C�2?2���

�..��C9	=45�034�03	�@	.4�!


5	C	&5

���:0=	-�?�-!	

�	*9%15	��	

��4�0�2�4�0!

�+�

�2��!

�*9$�9��	

��3��4.�4�0 ��=:��=

-�?�-	A5B

��7�0= ��.�/	A5B

,�����	���0


��=��2��-8	-��3�	54=	=2�;	���>0	34-�8	320=	>4�/

@��D:�0�	=�5�-4�4�0	�:��-�	�/��:7/�:�	

,$���
��
�	�0

*9%1 �
,�%7�0

�4�5� 	 -47/� 	 ���>0	�-28	>4�/ 	���234�02- 	 �:��-�

��0�25402�4�0	@��5	2��?�	=�.�34�

,�������$0

*9$1 �9#�
,8%8*0

����	/�5�7�0��:3	34-��	=2�;	�-:�	����5407

�-2�;	>4�/	=�.�/

,�������$0

&9�* $9%&
,8%.�0

�2�;	��	�-2�;	�-28	��0�240407	���234�02-	��7204�

��52403	20=	3�5�	.�2�	


9$* �9#&
,8%�*0

���3�	@24�-8	=2�;(�-2�;	5�=4:5	7�2?�-		����5407

@40��	20=	3-47/�-8	320=8	>4�/	=�.�/

,	������
@
��$��

�
�:������
	0

�91$

�9#$

			&91%




,A�%��0
	

�47	�		
���4�0	�/��:7/	=�.�34�3	40	��42-	.4�	$

*



�47	&  4�>	�@	��42-	'4�	$	-��;407	0���/

�47	*  4�>	�@	��42-	'4�	$	-��;407	3�:�/

�




��:�	��2=�	
��:�	�/2�@	��																																																					A
��	��B

��42-	'4�	0�9	
 �D:4.5�0�	H	5��/�=3!

���I	��2�;�=	�C�2?2���

�..��C9	=45�034�03	�@	.4�!


5	C	&5

���:0=	-�?�-!	

�	*9115	��	

��4�0�2�4�0!

�+�

�2��!

�*9$�9��	

��3��4.�4�0 ��=:��=

-�?�-	A5B

��7�0= ��.�/	A5B

,�����	���0


���3�	54=	���>0	320=8	34-�	>4�/	@��D:�0�

=�5�-4�4�0	�:��-�	�/��:7/�:�	

,$���
��
�	�0

*911 �
,8%��0

�4�5� 	 -47/� 	 ���>0	�-28	>4�/ 	���234�02- 	 �:��-�

��0�25402�4�0	@��5	2��?�	=�.�34�

&911 $9��
,�%4�0

����	/�5�7�0��:3	34-��	=2�;	�-:�	����5407

�-2�;	>4�/	=�.�/�	���234�02-	��7204�	��52403

,�������$0

&9�1 $9��
,8%��0

�2�;+�-2�;	�-28	��0�240407	��7204�	��52403

���234�02-	.�2�	=�.�34�3

,�������$0

�9&1 
9*�
,�%*�0

���3�	@24�-8	=2�;(�-2�;	5�=4:5	7�2?�-		����5407

@40��	20=	3-47/�-8	320=8	>4�/	=�.�/

,	������
@
��$��

�
�:������
	0

$9�1

�9%1

			&91�




,A�%��0
	

�47	�		
���4�0	�/��:7/	=�.�34�3	40	��42-	.4�	


#



�47	#  4�>	�@	��42-	'4�	
	-��;407	0���/

%



�47	%  4�>	�@	��42-	'4�	
	-��;407	3�:�/

1




��:�	��2=�	
��:�	�/2�@	��																																																					A
��	��B

��42-	'4�	0�9	� �D:4.5�0�	H	5��/�=3!

���I	��2�;�=	�C�2?2���

�..��C9	=45�034�03	�@	.4�!


5	C	&5

���:0=	-�?�-!	

�	*9115	��	

��4�0�2�4�0!

��+
�

�2��!

�*9$�9��	

��3��4.�4�0 ��=:��=

-�?�-	A5B

��7�0= ��.�/	A5B

,�����	���0


���3�	-47/�	���>0	��2�3�	320=	20=	��:3/�=	��4�;

�:��-�

,$���
��
�	�0

*911 �
,�%7*0

���3�	54=	���>0	��2�3�	320=	20=	34-�	��0�240407

=�5�-4�4�0	�:��-�

,$���
��
�	�0

*9
* �9#&
,8%�40

�4�5	�-2�;	�-28	��0�240407	���234�02-	��7204�

��52403	20=	.�2�	=�.�34�3

,�������$0	

�9�
 
9�#
,�%��0

���3�	@24�-8	=2�;+�-2�;	5�=4:5	7�2?�-		����5407

@40��	20=	3-47/�-8	320=8	>4�/	=�.�/

,	������
@
��$��

�
�:������
	0

$9��

$9&�

			&9�1




,A�%��0
	

�47	1		
���4�0	�/��:7/	=�.�34�3	40	��42-	.4�	�

$�



�47	$�  4�>	�@	��42-	'4�	�	@2�407	0���/>�3�

$$



�47	$$  4�>	�@	��42-	'4�	�	@2�407	0���/�23�

$




'9 ��--. 2��1��/��1��#�����.�#�$��$,�����

'"! �/�	�?2-:2�4�0	��?�2-�=	2	���2=-8	��5.2�2�-�	3�D:�0��	�@	=�.�34�3	2���33	�/�	34���

>4�/	54=	$1�/	 ��0�:�8	20=	-2���	52=�	7��:0=	�?��-8407	2	3��4�3	�@	2--:?42-	/��4J�03

20=	�/�0��	02�:�2-	�4?��	����2��	=�.�34�39		�/���	>23	0�	=4����	�?4=�0��	@��	.��+$1�/

��0�:�8	/:520	2��4?4�8�	�4�/��	40	�/�	@��5	�@	=43�����	2���@2��3	��	�	
����
��52403	3:�/

23	.��3��?�=	�45���39

'"% �/�	.�40�4.2-	.�40�3	�@	�/�	��42-	.4�	�����=	�20	��	3:552�43�=	23	@�--�>3�	20=	2��	2-3�

=�.4���=	40	�47:��	$
	�?��-�2@!

��0�����.����

. �.

�� 1.$��,�0�,

4-��
5


�3�/��1���3���,

6� �$����-.#�

� ���#�4-5


,,�0�.,���7���$�

��3�4-��
5 �/�$*����

4-5

��3��1��.�� .,

��  .$��� .0�,

4-��
5

�'$ *9%1 �9#� *9$1 &9
% �91$


 *911 $9�� &911 �91� $9�1

� *911 
9�# �9�
 
9�
 $9��

'"� ��	43	-4;�-8	�/2�	@24�-8	����0�	2��4?4�8	/23	��:0�2��=	�/�	2--:?4:5	40	3�?��2-	2��239		�/�

:..��	-�?�-	�@	2--:?4:5	?434�-�	40	��42-	.4�3	$	20=	
	43	0��	?434�-�	40	��42-	.4�	��	>/���

�/�	52=�	7��:0=	-28��	43	5���	�/20	�>4��	�/�	�/4�;0�33	�@	�/2�	40	��42-	.4�3	$	20=	
�

�C��0=407 	 �� 	 �9�
5 	��9 	 	 �/43 	528 	 ��.��3�0� 	 2 	 �/207� 	 40 	 �/� 	 3�2-� 	 �@ 	5�=��0

=�?�-�.5�0�	��	�/�	3�:�/>�3�	�@	�/�	34��9

'"& �/�	:..��	-�?�-	�@	2--:?4:5	��5.�43�=	7�0��2--8	�-�20	20=	3���4-�	34-�	��	3-47/�-8	320=8

34-��	40=4�2�407	2	@-��=�=	�0?4��05�0�	>4�/	-4��-�	.-20�	-4@�9		
�5�	��4�;	20=	=�5�-4�4�0

�:��-�	>23	?434�-�	40	�/�	:..��	$*�55	�@	�/�	=�.�34�	40	�'3	$	20=	
�	�:�	�/43	�20	��

.:�	=�>0	��	7�0��2-	��0�25402�4�0	@��5	�/�	2��?�	52=�	7��:0=9	 	��7204�	52���42-

>4�/40	�/43	-28��	>23	-454��=	��	���234�02-	��20�/�3	20=	��/��	=�4@�>��=9

'"' �/���	>23	2	52�;�=	�/207�	40	�/�	2--:?42-	3�D:�0��	���>��0	&5	20=	&9�5	��9	 	�0

7�0��2-	�/43	2..�2��=	23	2	=2�;	�-:�	34-�	��0�240407	5���	@��D:�0�	��7204�	52���42-�

>/4�/ 	 40 	 ��42- 	 .4� 	 $ 	 ���25� 	 5��� 	 .�2�8 	 >4�/ 	 =�.�/9 	 	 �/43 	 =�.�34� 	 ���25�

.��7��334?�-8	�-2�;��	2���33	��42-	.4�3	$	H	
	2�	2	=�.�/	�@ 	�	 �9*5	��	A
9
5	��	40

��42-	.4�	$B9	�/�	��7204�(.�2�	/��4J�03	528	��@-���	2	.��4�=	�@	52�40�	��7��334�0	20=

=�?�-�.5�0� 	 �@ 	 2 	52�3/8 	 �0?4��05�0�� 	 @�--�>�= 	 �8 	 .��7��334?� 	 @-��=407 	 �@ 	 �/�

-20=3�2.�9

'"( �/�	3:�@2��	�@	�/�	02�:�2-	�4?��	����2��	>23	2�	4�3	/47/�3�	40	�/�	��0���(3�:�/	�@	�/�

34���	2�	2��:�	+$9�5	��	A�'�B�	>/4-3�	�/�	-�>�3�	.�40�	>23	�����=�=	40	�/�	0���/>�3�

���0��	2�	�91$5	��	A�'$B9		�/:3	�/���	43	3�5�	�?4=�0��	@��	�/207�	40	�/�	:0=��-8407

��.�7�2./8	�@	�/�	34���	��?���/�-�33�	43	�-�2�	�/2�	40	�/�	�2�-4��	.��/43���4�	.��4�=	5:�/

�@	�/�	-20=	>�:-=	/2?�	���0	2��?�	��0��5.��2�8	>2���	-�?�-�	����5407	52�7402-	20=

.��7��334?�-8	@-��=�=	=:�407	��	2@���	�/�	���0J�	�7�9

$�



�47	$
		
45.-4@4�=	3���4�03	�/��:7/	��42-	.4�3	$+�

$&



'") �/� 	 �?2-:2�4�0 	=4= 	0�� 	 ��?�2- 	 208	 34704@4�20� 	 ��52403� 	�� 	 208	��/�� 	 �?4=�0�� 	 @��

/:520	2��4?4�8	.�4��	��	�/�	$1�/	��0�:�89		�0	.2��4�:-2��	�/���	>23	0�	3470	�@	>��;�=	��

�	
����	�45���3	��	�����3.�0=	>4�/	�/�3�	.��?4�:3-8	�����=�=	2��:�	
��5	��	�/�	3�:�/9

��>�?���	4�	43	��034=���=	�/2�	�/�	�?2-:2��=	2��2	��.��3�0�3	2	@24�	325.-�	�@	�/�	-4;�-8

=�.�34�3	20=	-�?�-3	�@	3:�?4?2-	�0	�/�	34��9

�0	?4�>	�@	 �/�3�	��3:-�3 	 43 	 ����55�0=�=	 �/2� 	0�	@:��/��	2��/2��-�74�2- 	54�472�4�0

3/�:-=	��	:0=���2;�0	40	��3.���	�@	�/�	.��.�3�=	��=�?�-�.5�0�9

$*



$�



$#




33��#�8���" ���#���
 $/.��,��������--. 2

���� ���.#������ ��/. 1�����%��"		�"	�#�$�	%&$$�9	��	A��-40	��4=B9	�?2-:2�4�09

�������	
���9		�	���520	H	
�0	��=9		
��	��9

��--. 2

�0	�?2-:2�4�0	@�--�>�=	.��?4�:3	40?�3�472�4�0	40	�/�	2��2	�/2�	/2=	4=�0�4@4�=	.���0�42-

@��	��520	��52403�	3.��4@4�2--8	.��3��?�=	�45���	3��:��:��3	20=	.�3�39

�/���	52�/40�+=:7	��3�	.4�3	��?�2-�=	2	���2=-8	��5.2�2�-�	3�D:�0��	2���33	�/�	34���

>4�/	$1�/	��0�:�8	20=	-2���	52=�	7��:0=	3�2-407	2--:?42-	A34-�	20=	��7204�B	/��4J�039		��

�:-�:�2-	2���@2��3	>���	����?���=9

�/�	2--:?42-	3�D:�0��	>23	:.	��	&9
5	�/4�;	20=	3�2-�=	02�:�2-	�4?��	����2��	320=3

20=	7�2?�-3	2�	���>��0	�	�91$5	20=	$9�5	��9

$%


